
 

 

 

kmn]jf; gu/sfo{kflnsf 
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kmn]jf; gu/kflnsf 


kmn]jf;, kj{t 

k|b]z g+= $, g]kfn 

 



 

gu/ ;efaf6 :jLs[t ldlt M @)&%÷#÷!) 
 

 

 

gu/;efaf6 kfl/t ldlt  @)&%÷#÷!) 

@)&% ;fnsf] ljw]os g+= M ! 

kmn]jf; gu/kflnsfsf] cy{ ;DaGwL k|:tfjnfO{ sfof{Gjog ug{ ag]sf] ljw]os M 

k|:tfjgfM kmn]jf; gu/kflnsfsf] cfly{s jif{ @)&%÷)&^ sf] cy{ ;DjGwL k|:tfjnfO{ sfof{Gjog 

ug{sf] lgldQ :yfgLo s/, z'Ns tyf cGo ;a} lsl;dsf] /fhZj ;+sng ug]{, 5'6 lbg] tyf cfo 

;+sngsf] k|zf;lgs Joj:yf ug{ jf~5lgo ePsf]n], 

g]kfnsf] ;+ljwfgsf] wf/f @@* sf] pkwf/f -@_ adf]lhd kmn]jf; gu/ ;efn] of] P]g agfPsf] 5. 

!= ;+lIfKt gfd / k|f/De M -!_ o; law]ossf] gfd æcfly{s P]g, @)&%Æ /x]sf] 5 . 

 -@_ of] P]g @)&% ;fn >fj0f ! ut] b]lv kmn]jf; gu/kflnsf If]qdf nfu' x'g]5 . 

@= kmn]jf; gu/kflnsf leq cg';"rL ! adf]lhdsf s/x? nufOg] / c;'n pk/ ul/g]5 . 

#= o; P]g adf]lhd s/ ltg]{ bfloTj ePsf JolQm jf ;+:yfx?nfO{ s'g} klg lsl;dsf] s/ 

5'6 lbOg] 5}g . 

$= s/, z'Ns tyf cGo ;a} lsl;dsf] /fhZj ;+sng ;DalGw sfo{ljlw M of] P]gdf ePsf] 

Joj:yf cg';f/ s/ tyf z'Ns ;+sng / c;'n pk/ ;DalGw sfo{ljlw gu/kflnsfn] 

tf]s] cg';f/ x'g]5 . 

%= k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf Joj:yf ePsf] cj:yfdf ;f]xL adf]lhd o; 

kmn]jf; gu/kflnsfsf] s/ k|0ffnL Jojl:yt x'g]5 . 

^= g]kfnsf] ;+ljwfg, ;+3Lo cfly{s sfg'gn] tf]s]sf] :yfgLo cfly{s sfg'gsf] dfkb08, k|b]z 

sfg'g, k|b]z cfly{s sfg'gn] tf]s]sf] :yfgLo cfly{s sfg'gsf] dfkb08 aflemPsf] xb;Dd 

cdfGo x'g]5 . 

 

gf]6 M gu/ sfo{kflnsfn] p7fpg] s/, b:t'/, z'Ns / cfo ;a} lsl;dsf /fhZj b/ cg';"rL ! 

df /flvPsf] 5 . 



!=;]jf z'NsM 

l;=g+= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

1 :ynut ;h{ldg jfkt 500 50 25000

2 crn ;DklQ d"Nofs+g -)=! k|ltzt_ 0.10% 40000000 40000

3 lghL ljBfnosf] btf{ l;kmf/L; -df=lj=_ 25000 1 25000

4 lghL  cfwf/e"t ljBfnosf] btf{ 20000 2 40000

5 lghL ljBfno sIffyksf] l;kmfl/; 1000 1 1000

6 lghL afn ljsf; s]Gb| btf{ 7000 1 7000

7 gful/stf cg';"rL tyf lgj]bg tyf l;kmfl/; 300 500 150000

8 c+lus[t gful/stf l;kmfl/; 500 3 1500

9 k|ltlnlk gful/stfsf] l;kmfl/;-;+zf]lwt ;lxt_ 400 500 200000

10 ldnfkq z'Ns 300 50 15000

11 3/ gDjl/Ë Kn]6 k|lt uf]6f -sRrL3/_ 100 2000 200000

12 3/ gDjl/Ë Kn]6 k|lt uf]6f -l6g, 9'+ufsf] 5fgf_ 400 3900 1560000

13 3/ gDjl/Ë Kn]6 k|lt uf]6f -9nfg 3/_ 800 200 160000

14 6f]n ljsf ;+:yf btf{ z'Ns÷gljs/0f 200 20 4000

15 Joj;flos Ohfht l;kmfl/; -7]Ssf afx]s_ 1000 100 100000

16 3 au{sf lgdf{0f Aoj;foL cg'dlt kq 20000 5 100000

17
3 au{sf lgdf{0f Aoj;foL cg'dlt kq gjLs/0f -

ljnDa z'Ns ?=@))).–_
5000 5 25000

18 :ynut k|flalws ;]jf z'Ns 2000 50 100000

19 9nfg 3/ lgdf{0f ug]{nfO{ k'jf{wf/ dd{t ;+ef/ z'Ns 2500 20 50000

hDdf 2803500

kmn]jf; gu/sfo{kflnsf

cf=a=)&%÷&^ sf] nflu ;]jf z'Ns, s/ tyf b:t'/x? b//]6

अनुसूची - १



 @= ljleGg k|dfl0ft / l;kmf/L; tyf cGo b:t'/

l;=g+= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

! 3/jf6f] l;kmfl/; 

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 

k|lt /f]kgL-! /f]kgL eGbf sd hlt ePklg ! /f]=sf] b:t'/ nfUg] 5_
0

s ;8s;Fu hf]l8Psf] lsQf Ps /f]kgL ;Dd 600 400 240000

v uf]/]6f] af6f] 100 400 40000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx?

s d"Vo ;8s 300 100 30000

v zfvf ;8s 100 100 10000

u uf]/]6f] af6f] 50 50 2500

# hUuf gfd;f/L l;kmfl/;

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 500 100 50000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 200 100 20000

$ gfd, y/ ;+zf]wg l;kmfl/; 300 50 15000

& 3/ sfod l;kmfl/; -9nfg 3/_ 1000 20 20000

* 3/ sfod l;kmfl/; -9nfg afx]s cGo 3/_ 300 50 15000

!$ 5'6 hUuf btf{sf] l;kmfl/; b:t'/ 

s
g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 

Ps /f]kgL ;Dd
3000 0 0

k|=/f] yk 

?=!))).–

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 300 10 3000

!% ljB't h8fgsf] l;kmfl/; b:t'/-3/of;L k|of]hg_

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 400 100 40000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 200 100 20000

!^ ljB't h8fgsf] l;kmfl/; b:t'/-y|L km]h nfOg_

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 1000 3 3000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 1000 5 5000

!&
Aoj;fo, vfg]kfgL wf/f, ljB't ld6/ cflbsf] 7fpF;f/L tyf gfd 

;+zf]wg l;kmfl/;
300 100 30000

!* lghLwf/f jf 6]lnkmf]g h8fg l;kmfl/; b:t'/

s g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ If]q 250 100 25000

v dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 100 50 5000

!(
a}b]lzs /f]huf/sf] le;f k|of]hgsf] nflu l;kmfl/;-;fs{sf ;b:o 

/fi6«x? afx]s_
0 0 0

s vf8L d'n'ssf] nflu 500 100 50000

v dfly pNn]lvt afx]s cGo d'n'ssf] nflu 1000 50 50000

@! kl/jf/ NofPsf]÷nu]sf] l;kmfl/; 200 200 40000

@# gftf k|dfl0ft b:t'/

;a} j8fsf nflu 500 150 75000

@$ j;f]jf; k|dfl0ft -a}b]lzs k|of]hg_ 1000 10 10000

@% a;f]jf; k|dfl0ft -:jb]zL k|of]hg_ 500 10 5000



l;=g+= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

@^ gfkmfd"ns ;+:yf btf{÷gljs/0f / l;kmfl/; 2500 5 12500

@& ;]jfd"ns ;+:yf btf{÷l;kmfl/; 200 5 1000

@* aGb ePsf] cyjf 7fpF ;f/]sf] 1500 4 6000

#) df]xL gfd;f/L l;kmfl/;

s ;a} j8fsf nflu 500 5 2500

#! ;DaGw ljR5]bsf] l;kmfl/; 1500 11 16500

#@ 7'nf pBf]u :yfkgfsf] l;kmfl/; 10000 0 0

## demf}nf pBf]u :yfkgfsf] l;kmfl/; 1000 1 1000

#$ ;fgf tyf 3/]n' pBf]usf] l;kmfl/; 500 100 50000

#%
?v sf6\g] l;kmfl/; k|lt uf]6f -k|ltalGwt afx]s :jLs[t cfjZos 

kg]{df_
300 50 15000

#^ g]kfnL k]G;gk§f ;DaGwL l;kmfl/; 500 30 15000

#& ef/tLo k]G;gk§f ;DaGwL l;kmfl/; 1000 5 5000

#* cGo d'n'ssf] k]G;gk§f l;kmfl/; 5000 3 15000

#( ck'tfnL l;kmfl/; -g]kfnsf] nflu_ 1000 1 1000

$) ck'tfnL l;kmfl/; -ljb]zsf] nflu_ 5000 1 5000

$! hGd d[To" ljjfx k|dfl0ft tyf l;kmfl/; -#% lbg s6]kl5_ 200 100 20000

$@ pNn]lvt afx]ssf cGo ljljw k|dfl0ft tyf l;kmfl/; 200 300 60000

c+u|]hLdf l;kmf/L; 1000 100 100000

$# Pkm=Pd= ;~rfng l;kmfl/; z'Ns 50000 0 0

$$ Pd=Pd=;~rfng Ohfht b:t'/ !)) jf6 ;Dd 10000 1 10000

Pd=Pd=;~rfng Ohfht gljs/0f 15000 1 15000
hDdf 1154000

#= axfn s/ M

qm=;= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

!
gu/kflnsf If]qleq s'g} 3/, k;n, Uof/]h, uf]bfd, 6x/f, ;]8

sf/vfgf, hUuf cflb jxfndf lbPsf]df  !) k|ltzt
10.00% 5000000 500000

@

gu/ If]qdf cfkm'n] lgdf{0f, /]vb]v / ;~rfng u/]sf] xf6ahf/ /

;fj{hlgs :yn, P]nfgL hUuf jf ;fj{hlgs af6f]sf] 5]pdf c:yfoL

k;n yfKg lbP jfkt -k|lt ju{lkm6 ?= @ b]lv @) ;Dd_

200 20 4000

hDdf 504000

b|i6JoM gu/kflnsf jf j8f sfof{noaf6 lbO{g] ljkGgtf k|dfl0ft l;kmfl/;, ckf+utf l;kmfl/;, 5fqj[QL l;kmfl/;, of]hgf dfusf] 

l;kmfl/;-s'g} /fxt ;fdfu|L jf cg'bfg dfu_, ;fdflhs ;'/Iff k|fKt ug]{ l;kmfl/;, #% lbg leq JolQmut 36gf btf{ ubf{, kmn]jf; 

g=kf=sf] gu/ If]q leqsf] s[lif pkh tyf kz' rf}kfof pTkfbs s[ifs cfkm}Fn] ljqmL ubf{ Pj+ kfl/jfl/s cfly{s ;xfotf ;DjlGw l;kmf/L; 

lgMz'Ns ug]{ .



qm=;= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

!
l;g]dfxn, lel8of]xn, ;fF:s[lts k|bz{gxn, ly|P6/ ;+lut tyf

dgf]/~hg k|bz{g   :ynsf] k|j]z z'Ns
k|b]zn] lgwf{/0f u/] adf]lhd 0 0

@ hfb', ;/sz, r6s, cflb k|b]zn] lgwf{/0f u/] adf]lhd 0 0

hDdf 0

qm=;

=
;]jfsf] lsl;d b/ ?= kl/df0f s'n hDdf s}lkmot

! cUnf] ;fOgaf]8{, l8lkP; af]8{ 2 500 1000

@ jfn k]G6 lj1fkg k|lt j=lkm 5 500 2500

# Jofg/ -a9Ldf Ps dlxgf ;Ddsf] nflu_ k|ltuf]6f  300 5 1500

hDdf 5000

s|=;+= hUUffsf] If]qkmn b/ kl/df0f hDdf s}lkmot

! rf/ lsNnf k|dfl0ft ug]{ 200 500 100000

&=3/ gS;f kf; b:t'/ 

l;=g+

=
ljj/0f b/ ?=÷a=lkm= kl/df0f s'n hDdf s}lkmot

!= 9nfg 3/ lgdf{0f -kvf{n ;d]t_ 

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
3 600000 1800000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 2 500000 1000000

@= sRrL 3/ kvf{n  ;d]t -l6g, 9'+ufsf] 5fgf_

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
1 20000 20000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 0.5 20000 10000

$=
gu/kflnsf x'g' eGbf cuf8L lgdf{0f u/]sf] gS;fkf; ubf{ -

dfkb08 cg'?k lgdf{0f ePsf] ePdf dfq_

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
0.5 400000 200000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 0.1 400000 40000

^= gS;f gjLs/0f jfkt 500 3 1500

3/ gS;f gfd;f/L kSsL -Psf3/_ 200 3 600

3/ gS;f gfd;f/L kSsL -Psf3/ gePdf__ 1500 2 3000

sRrL 3/ -9'+ufdf6f]sf] hf]8fO{ h:tfsf] 5fgf_ gS;f gfd;f/L 100 1 100
sRrL 3/ km';sf] 5fgf ePsf] jf ;fdfGo 3/ jf 6x/f gS;f 

gfd;f/L
50 20 1000

em'k'8f 3/ gfd;f/L 20 10 200

$=  dgf]/~hg s/ M –

  lj1fkg s/sf] b/ aflif{s M

^= rf/ lsNnf k|dfl0ft

%= lj!fkg s/ M 



c:yfoL 6x/f lgdf{0fsf] Ohfht b:t'/ 1000 3 3000

hDdf 3079400

*= Plss[t ;DklQ s/ M 

qm=;+

=
d'NofÍsg /sd -? df_ b/ kl/df0f s'n hDdf s}lkmot

! ?= ! nfv ;Dd 100 1000 100000

@ ?=  ! nfv b]lv % nfv ;Dd 300 1750 525000

# ?=  % nfv b]lv !) nfv ;Dd 500 1700 850000

$ ?=  !) nfv b]lv !% nfv ;Dd 1000 1500 1500000

% ?=  !% nfv b]lv @) nfv ;Dd 1500 950 1425000

^ ?=  @) nfv b]lv #) nfv ;Dd 2500 100 250000

& ?=  #) nfv b]lv $) nfv ;Dd 3500 50 175000

* ?=  $) nfv b]lv %) nfv ;Dd 4500 50 225000

( ?=  %) nfv b]lv *) nfv ;Dd 7500 30 225000

!) ?=  *) nfv b]lv ! s/f]8 ;Dd 9500 20 190000

!! ?=  ! s/f]8 b]lv ! s/f]8 %) nfv ;Dd 11500 10 115000

!@ ?=  ! s/f]8 %) nfv b]lv @ s/f]8 ;Dd 12500 10 125000

!# ?=  @ s/f]8 dfyL k|ltxhf/ ? @ yk 14500 7 101500

hDdf 7177 5806500

lgodn] tf]s] jdf]lhd x'g]5 .

!)=b08 hl/jfgf 

l;=g+

=
ljj/0f b/

!= Tff]lsPsf] z'Ns, b b:t'/, s/ ;DjGwLt jif{df gj'emfPdf klxnf] jif{ !)Ü h/Ljfgf - -

@=
Tff]lsPsf] z'Ns, b:t'/, s/ ;DjGwLt jif{df gj'emfPdf bf];|f] jif{ 

cluNnf] jif{sf] yk z'Ns, b:t'/, s/  ;lxt
bf]>f]] jif{ @)Ü h/Ljfgf - -

gf]6M dfly pNn]lvt x'g 5'6 x'g uPsf Joj;fox?nfO{ Joj;fosf] k|s[lt x]/L pNn]lvt ljifo;+u 

d]n vfg] lsl;dsf] b/df ?= !)).– b]lv %))).– ;Dd lng] . 

l;=g+

=
ljj/0f b/ kl/df0f hDdf

!%= 7"nf pBf]u l;kmf/L; 10000 1 10000

!^ demf+}nf pBf]u l;kmf/L; 5000 3 15000

!& ;fgf pBf]u -Ans–O§f cflb_ 1000 10 10000

hDdf 35000

(=cGo 3/ hUuf /lhi6«]zg, pBf]u Jofj;fo btf{, ;xsf/L btf{, nufotsf z'Ns tyf b:t'/ ;DjlGwt If]qut P]g, 



11= Joj;fo s/ Mjflif{s 

qm=;= lzif{s b/ kl/df0f s'n hDdf s}lkmot

1 xf]^n, nh, <]i^'<]G^, af<, Sofkm], ldi&fg e)*f<,

s= dlb<f ;d]t ljlqm ug]{ xf]^n  nh ;d]t 2000 30 60000

v xf]^n, nh ;d]t 1500 5 7500

u= dlb<f ;d]t ljlqm ug]{ xf]^n 1200 30 36000

v xf]^n dfq 1000 10 10000

2 ^]G^xfp;/Sof^l<ª 1000 0 0

3 ;'grfbL k;n 1000 6 6000

4 ^]nl<ª Joj;fo 0

s sk*f k;n ;xltsf] ^]nl<ª 1000 3 3000

v ^]nl<ª 500 11 5500

5 ;}n'g 500 1 500

6 s Jo"l^ kfn{<-tflnd ;d]t lbg] 1000 2 2000

7 s sDKo'^< laqmL 1500 0 0

v sDKo'^< dd{{t 750 5 3750

8 s l^.le.,lk|m|h, laqmL 1500 0 0

v l^le.,lk|m|h, dd{t 500 0 0

9 s <]*Lof], df]afO{n, ^]lnkmf]g ljqmL 750 0 0

v <]*Lof], df]afO{n, ^]lnkmf]g dd{t 500 0 0

10 #*L, c*Lof] tyf le*Lof] Sof;]^ lalqm tyf dd{t 500 0 0

11 h'Qf tyf rKkn laqmL 1000 5 5000

5 eGbf a(L ;fdfgx?sf] *Ln< 5000 0 0

3 eGbf a(L 5  j^f ;Dd ;fdfgx?sf] *Ln< 3500 0 0

1 eGbf a*L 3 j^f ;Dd  ;fdfgsf] *Ln< 2500 0 0

Pp^f dfq ;fdfgsf] l*n< 1500 2 3000

12 cf}iflw k;n-Pnf]k]lys, xf]df]k]lys,cfo'j]]{lbs,r:df k;n 0

yf]s laqm]tf 2000 0 0

v'bf laqm]tf 1000 10 10000

;fgf v'b|f laqm]tf 750 10 7500

r:df k;n 500 0 0

13 gLlh c:ktfn tyf gl;{ª xf]d 4000 0 0

14 lsNgLs tyf Nofa 1000 0 0

*]G^n c:ktfn  1000 0 0

15 *]G^n lSnlgs  1000 0 0

16 kfg k;n 500 0 0

17 nQf sk*f w'nfO{ tyf ;<;kmfO{ 0 0



qm=;= lzif{s b/ kl/df0f s'n hDdf s}lkmot

*«fO{ SnLg;{ 500 0 0

w]faL 300 0 0

18 l;g]df xn - dgf]<~hg s< 0 0

s b}lgs ?kdf ;rfng x'g] 7000 0 0

v cflzs ?kdf ;rfng x'g] 5000 0 0

19 cf^{ Joj;fo 0 0

sfdbf< <flv Joj;fo ug]{ 750 0 0

cfkm} ug]{ 500 1 500

20 On]S^«Ls ;fdfgx?sf] laqmL 1000 10 10000

21 kmf]^f] :^'*Lof] 0

sn< Nofa kmf]^f] :^'*Lof] 1500 0 0

s kmf]^f] :^'*Lof] 1000 2 2000

22 wfuf], ^fs, km:g<  500 0 0

23 ef*f k;n 1500 3 4500

24 1000 10 10000

25 KnfO{, l;;f, sfk]{^, k|m]|d cflb laqmL 1500 1 1500

26 k]^«f]n kDk 5000 0 0

27 Uof; l;ln)*< laqm]tf 1000 0 0

28 ;fO{sn tyf l<S;f dd{t 500 2 1000

29 c^f]d]sflgS; tyf O{lGhlgol<ª-df]^< kf^{;\ 4000 0 0

30 n]y ;]S;g tkm{ 2000 0 0

31 df]^< a*L laN*;{ 2000 0 0

32 ^fo< dd{t tyf xfjf xfNg] tyf l;^ dd{t 500 0 0

33 df]^< ;fO{sn ;f] ?d 2000 0 0

34 kz' cfxf< pBf]u lkm*; 1500 0 0

35 n]vf k<LIfs 0

s < v >])fLnfO{ 1000 3 3000

u < # >])fLnfO{ 500 3 1500

36 a}s, kmfO{gfG;, ljlQo ;:yfx? tyf ;xsf<L a}s gfkmfd'ns_ 0

s ju{sf] a}s jf ljlQo ;_:yf 5000 1 5000

v ju{sf] a}s jf ljlQo ;_:yf 4000 3 12000

u ju{sf] a}s jf ljlQo ;_:yf 3000 2 6000

# ju{sf] a}s jf ljlQo ;_:yf 2000 2 4000

37 kfp<f]^L, a<km, la:s'^ tyf bfndf]& pBf]u 1000 0

38 lglh lzIffno ;rfng tkm{ 0

SofDk;, pRr df=lj= 5000 0 0

k|f=lj=, lg=df=lj=, df=lj= 2000 10 20000

39 Ans, l<ª, ^fon < tf<af< kf]n pBf]u 1500 0 0



qm=;= lzif{s b/ kl/df0f s'n hDdf s}lkmot

40 kf]lnlyg kfO{k tyf cGo Knfli^ssf ;fdfgx?s]f pBf]u 3000 0 0

41 d}galQ tyf cu< alQ pBf]u 200 0 0

42 d;nf pBf]u 750 0 0

43 k<fdz{ ;]jf 0 0

OGhLlgol<ª 2000 0 0

z}lIfs 1500 0 0

cGo k<fdz{ ;]jf 1000 0 0

44 ls<fgf k;n 0

dlb<f ;d]t ljlqm ug]{  yf]s laqm]tf 2500 0 0

dlb<f afx]s cGo j:t' ljqmL ug]{ yf]s ljqm]tf 2000 0 0

dlb<f ;d]t ljlqm ug v'b|f laqm]tf 1500 25 37500

v'b|f laqm]tf 1000 25 25000

45 dfbn dd{t tyf laqmL 200 1 200

46 l;<s *;gf laqmL 1000 3 3000

47 xo"d kfO{k, ljB't kf]n pBf]u   10,000 0 0

48 emf]nf tof<L ug]{ pBf]u  500 0 0

49 sGkm]S;g<L pBf]u 1000 0 0

50 *]<L pBf]u - b'Uw tyf b'Uw ;DalGw cGo Joj;fo 1000 3 3000

51 kmlg{r< pBf]u, kmlg{r< ;f] ?d, ;ldn 2000 3 6000

52 kmlg{r< pBf]u 1500 0 0

kmlg{r< ;f]?kd 1000 2 2000

53 u|Ln ;^< pBf]u 1500 0

s >])fL 1500 0 0

v >])fL 1000 5 5000

54 ldn-s'^flg, lk;flg, k]nflg-;]n<, xf]n<, t]n, lrp<f cflb 0

s'^fgL lk;fgL  1500 15 22500

s'^fgL 1000 2 2000

kfgL #§ 500 2 1000

55 s'v'<f kfng 0

1000 b]vL dfyL 1000 0 0

1000 j^f ;Dd 500 5 2500

56 df%f, df;' k;n 1000 11 11000

57 t<sf<L, kmnkm'n tyf ;fu ;AhL k;n 500 10 5000

58 c)*f laqmL 1000 10 10000

59 %fnf ;sng tyf laqmL 1500 0 0

60 O§f laqmL l*kf] tyf ;sng s]Gb| 3000 0 0

61 *f]sf], gfDnf], esf<L, Knfli^s tyf a]]taf;sf ;fdfgx? 1000 0 0

62 xf*{jo;{ k;n 2000 7 14000



qm=;= lzif{s b/ kl/df0f s'n hDdf s}lkmot

63 lrDgL pBf]u - O^f e^\^f 5000 0 0

64 d]^nsf] ef*f  agfpg] Joj;fo  500 0 0

65 k':ts, :^]Zg<L tyf v]ns'bsf ;fdfgx?sf] laqmL 1000 8 8000

66 s]j'n k|;f<)f 3000 2 6000

67 1000 0 0

68 sDKo'^<, *«fO{leª tyf cGo O{Gi^LRo'^ 1000 0 0

69 sk*f k;n 1000 15 15000

70 %fkvfgf tyf slk, lstfa pBf]u 2000 0 0

71 l*lh^n %fkfvgf 1000 0 0

72 ;fO{a<, g]^, kmf]g ;]jf_-sDo'lgs];g ;]jf_ s >])fL 1000 0 0

73 lgdf{)f Joj;foL 0

s >])fL 5000 0 0

v >])fL 3000 0 0

u >])fL 2000 0 0

# >])fL 1000 5 5000

74 <f;folgs dn, ljp ljhg, ls^gfzs cf}iflw laqmL 1000 2 2000

75 le*Lof] ldS;LË, 1000 3 3000

76 s. dbL<f yf]s laqmL 3000 0 0

v. dbL<f v'b|f laqmL 1500 20 30000

77 ^\o";g ;]G^< 750 0 0

78 a]l<ª l<k]l<ª tyf laqmL 750 0 0

79   d]zLg<L ;fdfg laqmL-df]^<, h]g]^< cflb s >])fL  2000 0 0

  d]zLg<L ;fdfg laqmL-df]^<, h]g]^< cflb  v >])fL 1500 0 0

80   kङ्vf s[lif df]^< dd{t 750 0 0

<]ld^]G; ;]jf 1000 2 2000

81 sjf*L Aoa;fo 2000 0 0

82 df]ljn, lu|h  laqmL 1000 0 0

83 ^';{ P)_* ^«fen 1000 0 0

84 s'l<o< tyf sfuf]{ ;]jf 1000 0 0

85 e] ]̂<]g<L ;]jf 750 8 6000

86 lrof k;n 500 30 15000

87 /+u/f]ug l;;f k;n 5000 2 10000

88 xfO8«f]kfj/ k|f=ln= 0 0

89 ;f]nf/ 0 0

90 kmlg{l;ª 1000 5 5000

91 e};L kfng 1000 2 2000

92 a+u'/ kfng 1000 2 2000

93 uhn /]i6'/]G6 0 0



qm=;= lzif{s b/ kl/df0f s'n hDdf s}lkmot

94 cˆ;]6 k|]; 1000 1 1000

95 ;fj{hlgs kl/jxg ;]jf 0 0

96 ;fOj/÷sDKo'6/ tflnd s]Gb| 500 2 1000

97 jLdf sDklg 0 0

98 OlGhlgol/Ë 5000 2 10000

99 ljz]if1 8fS6/ ;]jf 5000 1 5000

100 gf]6/L klJns ;]jf 2000 1 2000

101 k|fljlws lzIffno 500 1 500

102 xfplhª÷3/hUuf vl/b ljqmL 0 0

103 k|m]; xfp; -v;L af]sf÷df5f_ 1000 10 10000

104 r'/f 500 15 7500

105 s:d]l6s k;n 500 2 1000

106 ˆn]S; lk|G6 k;n 0 0

107 k'n xfp; 1000 1 1000

108 7]sf efF8f k;n 1000 1 1000

109 df6fsf efF8f k;n 500 1 500

110 8fnf gfªnf k;n 500 1 500

111 v]nf}gf ;fdu|L k;n 500 2 1000

112 hl8a'6L k;n÷;+sng stf{ 1000 1 1000

113 blnt hghftL k|df0fLt 100 50 5000

114 s/ lSno/]G; l;kmf/L; 100 50 5000

115 Joj;flos k|rf/ k|;f/ dfOlsª uf8Laf6 -b}lgs s/_ 200 5 1000

116 aflx/af6 a]Rg Nofpg] 0

v;Laf]sf k|lt uf]6f 10 100 1000

xfF;, s'v'/f, k|lt uf]6f 1 500 500

ufO{, e};L  k|lt uf]6f 50 100 5000

Rofª\u|f  k|lt uf]6f 10 100 1000

df5f k|lt s]=lh= 5 500 2500

117 3'lDt k;n÷s'Dn] k;n÷af8fF k|ltlbg 50 100 5000

hDdf 570450

सबै सीटको जम्मा #REF!
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